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Problem 1. (15 points) Evaluste f 1(;%1)’
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Problem 4. a. (10 points) Find an integral formula for the arclength of the curve
y=2V7+1for 0 <z < 1. Do not ‘evaluate.
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around the z-axis. Simplify the integrand, and evaluate the integral.
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Problem 2. (15 points) Evaluste / (nz)dz pA
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Problem 5.  a. (7 points) Sketch the spiral r = 8, 0 < # < 3. Say how many times
the curve meets the z-axis counting & = 0 as the first time, and mark those points
with X-5. {Your sketch need not be accurate to scale.)
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Problem 3. (20 points) Use a trigonometric subsititution to evaluate / “+ P

(Be careful evaluating the limits.)
x= 2tanu dx = 2sec*u du
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& (10 points) Find the equation in polar coordinates for the liney = z — 1

‘Problem 6.
in the form r = /(6).
yewmd = cusd -\
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b. (5 points) Find the range of 8 for the portion of the line y = - 1 in the range
)

0 <z < co. (It helps to draw a picture.
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